Addition by Expanded Column Method
3 Digit + 2 Digit

Work out the answers to these calculations using the expanded column method.
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Addition by Expanded Column Method
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3 Digit + 2 Digit
Work out the answers to these calculations using the expanded column method.
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Answers

Question Answer Question Answer
Work out the answers to these calculations using the 16 | 588
expanded column method.

11370 17 | 260

2 | 545 18 | 465

31269 19 | 698

4 (339 20 | 1031

51263 21| 1028

6 | 750 22 1 900

71736 23] 850

8 (763 24 ] 823

91614 251 223

10 | 367 26 | 553

11| 529 27 | 704

12 | 892 28 | 848

131 820 29 | 191

14 | 533 30 | 528

151 570
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